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Class: VI
Subject: English

D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST 2/ HALF YEARLY EXAMINATION
SESSION: 2022 — 2023

General Instructions:

o @

h ® O O

The question paper consists of 4 pages.

There are 16 questions in the question paper. All questions are compulsory.

Question number 4 and 5 have internal choices. Attempt any one from each question.
Number your answers correctly.

Handwriting must be clear and legible.

Section A - Reading (20 Marks)

Read the passage and answer the questions that follow:

Through social networking, teachers, students and professionals can create discussion
forums or write blogs and posts to explore different and wide-ranging topics. Many
companies use social networks to connect with buyers to meet their business goals. This
can create opportunities in relationship-building, brand-building, publicity and promotion.

However, there are several disadvantages of social networking sites as well. Cybercrime
and cyber bullying have increased because it is hard to identify the offender and it is
almost impossible to keep full-time surveillance in such a wide network. As people spend
more time on social networking sites, they experience less face-to-face interaction which
also makes them more dependent on devices. Addiction to online networking is yet
another disadvantage.

Social networking can be used for social or business purposes through sites such as
Facebook, Twitter, LinkedIn, etc. Social network is as old as the internet technology that
was first developed in 1960. However, after 2003, the social network became very
popular.

Social networking has many advantages. The biggest advantage is that you can stay in
touch with your friends and family from all around the world. These social networks can
be used to improve our social awareness. Students can explore topics that they are
interested in by using online social networking. The people, aged between 25 and 35
years, admit that they are so attached to social networking sites that they even use them
during their working hours.

What can companies do through social networking?

When was social network first developed?

Cite the examples of any two popular social networking sites.
What is the impact of social networking on education?

How do companies benefit from social networking sites?

Find the word from the passage which means- ‘close observation, especially of a
suspected spy or criminal.’

What are the disadvantages of social networking?
What is the biggest advantage of social networking?
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Read the poem and answer the following questions.

Hold fast to dreams

For if dreams die
Life is a broken-winged bird
That cannot fly.

Hold fast to dreams

For when dreams go

Life is a barren field
Frozen with snow.

What can be the suitable title of this poem?
What will happen if dreams die?
What will happen if dreams go?

Find out the word from the text which can describe the below mentioned expression best
‘Having little or no vegetation; desolate and lifeless’.

Which poetic device is used in the line “Life is a barren field”?

Read the passage and answer the questions that follow:

One can understand why Americans live longer than any other people of the world. It is
estimated that in the USA there are over 52,000 men and women over 100 years old.
Americans are weight conscious and have excellent Medicare facilities. Most of the
people live in comfort as maximum old people’s homes are far away from noise and
pollution of cities. They were questioned to find out what contributed to their longevity.
First was genes- offspring of long-lived parents usually last longer than those whose
parents go early. Second factor contributing to age was sense of humour.

Only tension-free individuals can see the funny side of life, laugh at other people’s foible
and at themselves. Adherence to religious rituals also contributes for making lives stable.
What came as a surprise to me is that once people have crossed their nineties they spend
less on doctors and medicines. Their final illnesses are brief and they go without pain or
suffering.

The best title for the passage can be .
I. The importance of sense of humour ii. Secrets of Long Life
iii. Secrets of Dull Life iv. Doctors and Medicines

Why do Americans live longer than any other people in the world?
I.  Americans are weight conscious and have excellent Medicare facilities.
ii.  Americans are football loving people.
iii.  Americans are cricket loving people.
iv.  Americans are philanthropist.

Find out the synonym of ‘excellent’ from the below mentioned words.

i. Outstanding ii. Trivial iii. Commonplace iv. Unglamorous

The people who live away from noise and pollution

i. can enjoy longer lives. ii.  will never fall ill.

iii. are wise people. iv. need no medicine.

Who can see the funny side of life and laugh at other people’s foible and themselves?
i. all the Americans ii. only tension-free people

iii. only sarcastic people iv. only religious people

Page 2 of 4
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11.

Section B — Writing (16 Marks)

You are Adrij/Adrija. Today you received a phone call from the Ministry of Ayush
department. The phone call was for your father but at that moment he was not at home.
The representative from the ministry has asked you to convey the message that he has
been invited as a guest in the 8" International Day of Yoga observation programme in
New Delhi. As you are also in a hurry for your school, leave a message for your father.
(within 50 words)
OR
Write a paragraph in about 120 words on the topic ‘Time and Tide wait for none’.

You are Sanwayee/Rangan of class 6. Write a speech to be delivered in the morning
assembly on the topic “Being a good citizen.”

OR
Gandhiji’s father experiences mixed feelings for his son on receiving the confession note.
He pens down his feelings in the form of a diary entry. Imagine yourself in his place and
write a diary entry in about 80- 100 words.

Write a letter to the principal of your school requesting him/her to procure more story
books in the school library.

Section C — Grammar (20 Marks)

Do as directed in the brackets:

a) Love for is the greatest religion. (Use abstract noun form of ‘human’)

b) She herself made some tea. (Identify the underlined pronoun as Reflexive or
Emphasizing)

c) My teacher always listens to me with patience. (Replace the underlined phrase with an

adverb)
d) Students for the National Anthem. (Supply the simple past form of ‘rise’)
There is an error in each sentence. Replace the incorrect word with correct one.

incorrect correct
The postman is a important public servant. (i)
He wears an khaki uniform and khaki cap. (i)
He carries the bag on his shoulder. (iii)
He gets very little holidays. (iv) _

Choose the most appropriate modal from the brackets to fill in the blanks:

a. They -------------- help me, if they wanted to help me. (could/ should)

b. Work hard, lest you ---------- fail. (should/ could)

(o visit my uncle’s house every day last year. (would/ used to)

d. The doctor has advised me to wake up early in the morning, so | ---------- wake up early
in the morning. (should/ could)

Choose the correct form of the verb that agrees with the subject:

a) Each one of the boys (has/have) a scholar’s badge.

b) Shona, along with a few other girls, (play/plays) the piano.

c) Sunscreen and hats (are/is) essential for an outing in the sun.

d) The poet or the writer (are/is) going to address the audience today.
Rearrange the following words and phrases to form meaningful sentences:
a) called/rose/the/queen/the/is/flowers/of

b) widely/it/grown/is/the/ all/world/over

¢) 500/there/about/are/species/roses/of

d) the/rose/Persian/best/is/the
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14.

15.
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Section D : Literature (24 Marks)

Read the following extract and answer the questions given below:
“We may all command the present
If we act and never wait,
But repentance is the phantom
Of a past that comes too late.”

How can we command the present?

i. If we wait for the night time. ii. If we take help of others.

iii. If we don’t wait and accomplish our work at once. iv. If we are disciplined.

What is the rhyme scheme of these lines?
I. acbb ii. abbc iii. abcbh iv. bacb

What do you mean by repentance?
i. humble realization ii. happiness or satisfaction
iii. pride in doing something iv. to regret for something

Which poetic device has been used in the line “But repentance is the phantom”?
i. Simile ii. Metaphor iii. Anaphora iv. Repetition
Read the extract and chose the correct answer from the given options:

‘I am at your mercy, my lord’.
a) The speaker of the extract is

i) the buck ii) the jackal

iii) the fish iv) the white elephant
b) Who is ‘my lord’ referred to?

i) the king ii) the forester

iii) the helpful young man iv) the officer
c) The listener was not merciful to the speaker.

i) true ii) false

iii) partially true iv) partially false
d) The antonym of ‘mercy’ is

1) compassion i) devotion

iii) moderation iv) cruelty

Answer the following questions in brief:

a. Why was Daddy ashamed of himself after meeting the officer?
b. Why did the king give freedom to the white elephant?

c. What, according to Gandhiji, is the purest type of repentance?

d. What does the poet mean by the phrase ‘streams full of stars’?

Write down the theme of the poem “Leisure”.

Imagine yourself as Gandhiji and write a letter to your brother stating the importance of
physical exercises, games and sports.

ok K K ok ok ok ok o K ok ok ok ok ok K ok ok ok
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Class: VI

D.AV.INSTITUTIONS, WEST BENGAL ZONE

PERIODIC TEST 2/ HALF YEARLY EXAMINATION

SESSION: 2022 — 2023

Maximum Marks: 80

Subject: Mathematics

General Instructions:

The question paper consists of 36 questions and 5 printed pages, divided into 5 sections A, B, C,D
and E.

All questions are compulsory.
Section - A comprises of 16 questions of 1 mark each. Internal choice has been provided in 5
questions.
Section — B comprises of 6 questions of 2 marks each. Internal choice has been provided in 2
questions.
Section — C comprises of 7 questions of 3 marks each. Internal choice has been provided in 2
questions.
Section — D comprises of 4 Case Study based questions of 4 marks each.4 questions are to be
attempted out of 5 in each.
Section — E comprises of 3 questions of 5 marks each. Internal choice has been provided in 1
question.

1.

2.
3.

o No o

10.

11.

SECTION - A

What is the difference between the smallest natural number and the smallest

whole number?
Write the Roman numeral for 2944.
OR
Write CDXCV in Hindu Arabic numeral.
Write one pair of co-prime number.
Replace [ ] by a digit so the number is divisible by 9.
382 |64
OR
If a number is divisible by 3, it must be divisible by 9. (True / False)
Write the predecessor of greatest negative integer.
What power of -3 is 729?
Find the ratio of a score to a dozen.
Fill in the blanks:

The and terms of a proportion is known as means.
OR

3,4, 8, 16 are in proportion. (True / False)

Two lines which cut each other at a point are called lines.

Three or more points are said to be collinear points if they lie on asame .
OR

A extends endlessly in all directions.

A ————0p
i
B c

AC-AE =

Time: 3Hours
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12.

13.

14.
15.

16.

17.

18.

19.
20.

21.

22.

P is the midpoint of AB. M and N are mid points of AP and PB respectively.
What is the measure of MN ?

a);AB b) > AB ¢) ;AP d) 2AB

How many line segments are here?
OR

How many line segments are here?
Write the complement of supplement of 165.5°?

Identify one pair of parallel lines from here.

Write two pairs of parallel line segments.

SECTION -B
Find the value by using distributive property :
256 x 168 — 256 x 67 — 256
Find the sum on the number line: 8 + (- 6) — (- 2)

OR

Write the following in descending order.
-150, 62, -73, 115, -168, 97
and write the absolute value of -84
Find two numbers whose sum is 100 and whose ratio is 9:16.

i) Four points P, Q, R, S lie on a same line m. What are these points called?
i) If two lines | and n cut at a point D , what is the point D called ?
Perimeter of a rectangle is 4 cm. The perimeter of an equilateral triangle is 3

cm. Construct a line segment whose length is sum of their perimeters.

If a bicycle wheel has 36 spokes, then what will be the angle between a pair of

adjacent spokes ?
OR

. 4
How many degrees are there in = complete angle?

N



23.

24.

25.

26.

217.

28.

29.

SECTION-C
The length, breadth and height of a room are 6 m 80 cm, 5 m 10 cm and 3 m 40
cm respectively. Find the longest tape which can measure the dimensions of the
room exactly.
Find the value of :
52x (-1)¥x (-2)%x 32x (-10)3
Determine if the following ratios form a proportion:
200ml : 2.51 and X 4 : ¥ 50.

OR

Cost of 4 dozen bananas is ¥ 104. How many bananas can be purchased for
% 6.50?

q |

A
P

/'I B = il

Name two sets of concurrent lines and their point of concurrence.

Length and breadth of a rectangle is 3.5cm and 2.3cm respectively. Construct a
line segment whose length is 3/4™of the perimeter of the rectangle.

a) Draw one complementary adjacent angle.

b)
she i

i) Name one pair of linear pair.
i) Name one pair of vertically opposite angles.

o

- 5
G

-+ =
<« / 5>

Find the value of x, y and z.

OR

i) Name the corresponding angle of 21.
i) Name the alternate angle of £5.
iii) Name one set of linear pair.



30.

31.

32.

SECTION-D
CASE STUDY QUESTION (Answer any four out of 5 questions from each)
The temperature on a certain winter morning in Ladakh is -11°C at 5a. m. The
temperature drops 3 degree at 6 a.m. and rises 5 degree at 8 a.m. and again
drops 3 degree at 9 a.m.
i) What was the temperature at 6 a.m.?

a) -11°C b) 3°C c)5°C d) -14°C
1) What was the temperature at 8 a.m.?

a) -14°C b) -9°C c)9°C d) -11°C
iii) The temperature at 9 a.m. was

a) -12°C b) -9°C c)9°C d) -11°C
Iv) At which time the temperature was minimum?

ay5am. b)y6am. c)8a. m. d)9a. m.
V) At which time the temperature was maximum?

ay5a.m. b)6am. c)8a. m. d)9a. m.

Sony works in a factory and earns ¥7955 per month. She saves 1185 per
month from her earnings. Now her salary is increased and she gets I2565 more.
So, she saves 1200 more. Find the ratio of

I)Her previous savings to her previous income.

a) 235: 1500  b) 237:1591 c) 135:1050 d) 153:1151
ii)Her previous income to her previous expenditure.

a) 1591:1354  b) 1951:1435 ) 1565:1345 d) 1639:1275
iii)Her previous savings to her previous expenditure.

a) 372:1089 b) 275:1265 c) 472:2045 d) 237:1354
iv)Her new salary and new savings.

a) 2014:744 b) 2410:544  c¢) 2104:477 d) 3214:677
v) Her old salary and new salary.

a) 1591:2104  b) 1951:2401  c) 1159:2014 d) 1254:3104
i)Write another name for £1?

a) £AFB b) 2ABF c) £ADF d) zAFC

i) Write another name for £AGF ?

a) 24 b) 21 c) £3 d) £5

iii) Which set of points are collinear points ?

a) AB,C b) G,F.D c) B,F.E d) C,D,E

iv) Write another name for 25 ?

a) «DFE b) 2EDF c) £FBC d) «BFE

V) 23+ £5= ?

a) a) «DFE b) LEDF c) £FBC d) «BFE



33.

34.

35.

36.

Observe the figure and answer the following questions:

i) Alternate angle of zb
a) £c b) 2d €)4g d) zh
i) («c, £e) is the pair of

a) corresponding angles b) vertically opposite angles

c) alternate interior angles d)alternate exterior angles

iii) («d, £h) is the pair of

a) corresponding angles b) vertically opposite angles

c) alternate interior angles d)alternate exterior angles

Iv) (za, £g) is the pair of

a) corresponding angles b) vertically opposite angles

c) alternate interior angles d)alternate exterior angles

V) («f, £9) is the pair of

a) corresponding angles b) vertically opposite angles

c) linear pair d)alternate exterior angles
SECTION -E

I)Find the largest 4-digit number which is exactly divisible by 30.
if)Simplify: 150 - [ 70 - {60 - (30+20)}-10]
The traffic lights at 3 different road crossings change after every 48 sec, 72 sec
and 108 sec respectively. If they all change simultaneously at 8:20:00 Hours,
when will they again change simultaneously?

OR
a)Can two numbers have 18 as their HCF and 469 as their LCM?
b)The HCF of two numbers is 145, their LCM is 2175. If one number is 725,
find the other number.

XA |
~sg/ ¢
~8
|
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- D I
' | Xn
r

In the given figure name
a) The lines concurrent at point A.
b) Any one set of collinear points.
c) The lines concurrent at point G.
d) The point of intersection of three lines I, p and m.
e) Any one pair of intersecting lines.
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST 2/HALF YEARLY EXAMINATION

SESSION:2022-2023
Class: VI Maximum Marks: 80
Subject: Sanskrit Time: 3Hours
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(3)

4)

)

(6)

(7)
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(@) g& fo@d gl (You write.)
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(3) dg SIrar g1 (He goes.)
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC TEST 2/HALF YEARLY EXAMINATION

SESSION:2022-2023
Class: VI Maximum Marks:80
Subject: Science Time: 3Hours

General instructions:
1.All questions are compulsory.
2.There is no overall choice. However internal choices have been provided in 3 questions of 3 marks
category and 3 questions of 5 marks category.
3. Question 1 and 2 are very short answer type and questions 3 to 10 are MCQ type.
4.Question 11 and 12 are Assertion Reason type questions and 13 and 14 are paragraph-based questions.
5.Questions 15 to question 24 are short answer type and carry 3 marks each.
6.Questions 25 to question 30 are long answer type questions and carry 5 marks each.

1. Which mineral is used for the synthesis of thyroxin hormone? (1)

2. Give an example of a biennial plant. 1)

3. The group of organisms, that use light to prepare food, are called- 1)
a) Autotrophs  b) Decomposers c) Scavengers d) Heterotrophs

4. Kwashiorkar is seen in infants, upto- 1)
a) 2 yearsofage b)5yearsofage  c) 4years of age d) 3 years of age

5. This gas is not dissolved in water 1)
a) Oxygen b) Carbon dioxide c) Hydrogen d) None of these

6.  Which of the following is an example of homogenous mixture? (@)
a) Sand in water b) Bronze c¢) Pebbles inrice d) Iron nails in Sulphur powder

7. Which one of these changes is a reversible change? 1)
a) Burning of candle b) Inflating a balloon c) Baking of chapatti d) Growth of child

8.  This biochemical process involves the release of energy 1)
a) Respiration b) Boiling of water  c) Melting of ice  d) Tearing of papers

9. Kicking a football is an example of this motion- 1)
a) Periodic motion b) Oscillatory motion
c¢) Non-periodic motion d) Rotational motion

10.  Animals which eat fruits only 1)
a) frugivores b) parasites c) botha &b d) saprophytes

11. DIRECTION: In the following questions, a statement of assertion is followed by a 1)

statement of reason.
Make the correct choice as:
a) Both assertion and reason are true and reason is the correct explanation of
assertion.
b) Both assertion and reason are true but reason is not the correct explanation
of assertion.
c) Assertion is true but reason is false
d) Assertion is false but reason is true
Assertion (A): Gases diffuse very quickly into each other.
Reason (R): In gases the particles are in constant motion.

1



12.

13.

14.

15.

DIRECTION: In the following questions, a statement of assertion is followed by a
statement of reason.
Make the correct choice as:
a) Both assertion and reason are true and reason is the correct explanation of
assertion.
b) Both assertion and reason are true but reason is not the correct explanation
of assertion.
c) Assertion is true but reason is false
d) Assertion is false but reason is true
Assertion (A): The standard unit of time is second.
Reason (R): Foot step and hand span are used as a standard unit of length.
A 14 years old girl Ritu always stay tired, she does not want to play with her
friends, always feel fatigue as she lost her appetite and she also look very pale and
weak. Even some time she couldn’t attend the school. Her parent was very worried
about her, so, they took her to the doctor. Doctor prescribed few medicinal tests for
diagnosis and finally said that she is suffering from a deficiency disease and also
suggested some solutions.
a) Name the deficiency disease.

i) Anaemia ii) goitre iii) scurvy iv) night blindness
b) Name the mineral which is required to recover from the disease.
i) iodine if) iron iii) phosphorus iv) calcium
c) Name the foods from where Ritu can get the mineral.
i) Chips i) green leafy vegetables iii) lemon iv) rice and bread
d) Why do we need that mineral in our body?
i) For healthy skin ii) healthy eye sight
iii) formation of haemoglobin iv) none of these

Anupam is a class VI student. He loves to ride bicycle. He used to come to school
by riding his bicycle along a straight road, but near the school he needs to take a
circular turn to enter in the school. Recently in his science class he studied about
different types of motion. Monday morning when he was coming to school, he
classified various motions along his pathway.

a) Which kind of motion he can find in the tyre of bicycle.

i)rotational i) curvilinear iii) revolutional iv) none of these

b) A ball rolling on a straight road is in:

i) periodic ii) rotational iii) rectilinear iv) both ii) and iii)
c¢) which among the following shows circular motion?

1) outer part of merry-go- round ii) blades of moving fan
iii) pendulum of a wall clock iv) both i) and ii)
d) Which kind of motion does our solar system have?
i) rectilinear i) curvilinear iii) non-uniform iv) periodic

Waste segregation is an important criterion for their proper disposal. Comment on
this statement.

OR
Explain the role of microorganisms in recycling of minerals.

1)

(1x4=4)

(1x4=4)

©)



16.

17.

18.

19.

20.
21.

22,

23.

24,

25.

26.

27,

28.

29.

30.

Write the source, function and deficiency disease caused by vitamin-K.

OR
Write the full forms of PEM and PCM. State the effects of kwashiorkor seen in
infants.
Define the term solubility. How does it change on increasing the temperature of
water?
Liquids diffuse into each other quite slowly but solids do not diffuse with each
other. Give reason.

Suggest the ways to separate the following components of a mixture containing
sand, sugar and iron nails.
Why is the process of loading used to separate insoluble solids from liquid mixture?
What are the types of changes that occur during rusting of iron? Justify your
answer.
Differentiate between rest and motion. Give one example of each.

OR
Distinguish between rectilinear and curvilinear motion. Give one example of each.
Plants play an important role in our life. List down three uses of plants.
Make a flowchart to show classification of plants based on their nutrition with
examples for each type.
“Nature maintains a balance between the amount of oxygen and carbon dioxide in
the atmosphere” Explain and draw a diagram showing the various processes
involved.

OR
a) What is rain water harvesting?
b) Describe the process of vermicomposting.
a) Why are vitamins essential for our health? Give three reasons.
b) Name the vitamins that dissolves in fats.
Describe an activity with the help of a diagram to show that solid can diffuse slowly
into liquid.
In a conical flask a mixture of sand and camphor is given. Name the method to
separate this mixture. Explain with an activity along with diagram.

Most physical changes are reversible. Give reason in support of the given statement
citing two examples.

OR
a. 1.“Melting of wax is a physical change but burning of a candle is chemical
change.” Is the statement true? Justify your answer.
ii. During hot summer days, water from ponds, lakes, rivers get vaporized. What
kind of change is this?

a) Which kind of plant is shown in the given picture?

b) State any four ways in which we are benefited by animals.
OR

Classify the animals on the basis of their food habits and give

examples for each.
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D.AV.INSTITUTIONS, WEST BENGAL ZONE
PERIODIC ASSESSMENT 2/HALF YEARLY EXAMINATION

SESSION: 2022-2023

Class: VI Maximum Marks: 80
Subject: Social Science Time: 3Hrs

General Guidelines:

1. There are 36 questions in all. All questions are compulsory.
2. Marks are indicated against each question.

3. Write the question numbers as given in the question paper while answering a
question in your answer book.

4. Question 1-20 are very short answer type questions of 1 mark each.

5. Questions from 21-25 are 3 marks questions. Answer to these questions
should not exceed 80 words each.

6. Question no. 26-28 are source-based type questions of 3 marks each.

7. Questions 29-34 are 5 marks questions. Answer to these questions should
not exceed 120 words each.

8. Question no. 35 is a globe sum question of 4 marks.

9. Question no. 36 is map question of History. Map should be attached with the
answer sheet.

1. State why Venus is the hottest planet in the Solar System. 1

2. “With the development of computer technology, the technique of map 1
making has undergone change”- Do you agree? State one reason to
support your answer.

3. Two statements are marked as Assertion (A) and Reason (R) have been 1
given below. Choose the correct answer from the options that follow:

Assertion(A): The Earth has two types of motions, namely Rotation and
Revolution.
Reason(R): Rotation is the movement of the earth around the sunin a
fixed path or orbit. Revolution is the movement of the earth
on its axis.

A) Both A and R are true, and R is the correct explanation of A.

B) Both A and R are true, but R is not the correct explanation of A.
C) Ais true but R is false.

D) A is false but R is true.
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11

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

Recall the season in which Christmas is celebrated in Australia. 1

State one difference between Manuscripts and Inscriptions. 1

Name the author of the book ‘Abhigyan Shakuntalam’. What type of Yo+ Y
literary source is it?

‘Invention of fire brought the changes in the life of Early Man’- State Yot Yo
any two uses of fire in the life of early man.

Rewrite the following sentence correctly: - 1
Bhimbetka, in Uttar Pradesh is famous for prehistoric cave paintings.

Recall the famous site of the Harappan civilization, where dockyard was 1
discovered.

Mention any two famous inventions of the people of Roman civilization.’z + %

State the role of the ‘Sangrahitri’. 1
‘King Ashoka introduced a post of Dhamma Mahamatta after the end of 1
Kalinga war’- Mention the reason behind it.

Identify and name the following Archaeological monument. 1

List any two essential services commonly required by rural as well as Yo+ Y2
urban communities.

Mention any two names of harvest festivals of India. Yo+
‘Family is called as first school of our life’- State any one importance of 1
Family.

Identify the undemocratic method of problem solving. 1
Which country is considered as the birthplace of direct democracy? 1
Name the grass root level of governance in India. 1
Mention the significance of the term ‘Universal Adult Franchise’ in our 1

Indian Constitution.
Explain the formation of the Solar System from the Nebula. 3

“Seasons of the Earth are reversed between Northern and Southern 3
Hemisphere”-Give reason.



23.

24,

25.

26.

27.

Compare the position of women during the Early Vedic Period and the
Later Vedic Period.

“The standard of living of the people in rural areas has improved”—
Elucidate.

“Democracy is just not a form of government but is a way of life”-
Explain the statement.

Read the following passage and answer the following questions-

Not long ago, many people thought that comets were a sign that
something bad was about to happen to them. People didn't understand
how objects in the sky moved, so the sight of a comet must have been
very disturbing. There are many historical records and works of art
which record the appearance of comets and link them with terrible events
such as wars or plagues.

Now we know that comets are lumps of ice and dust that periodically
come into the centre of the solar system from somewhere in its outer
reaches, and that some comets make repeated trips. When comets get
close enough to the Sun, heat makes them start to evaporate. Jets of gas
and dust form long tails that we can see from Earth. These tails can
sometimes be millions of miles long.

In 1985-1986, a spacecraft called Giotto visited the most famous comet,
Halley, on Halley's most recent visit to the inner solar system. In 1994,
comet Shoemaker-Levy became trapped by the gravity of Jupiter and
plunged into Jupiter's atmosphere!

26.1 Name any two comets mentioned in the above source.

26.2 'Humans have feared comets, other celestial phenomena
through the ages'- Elaborate

1+2=3

Read the source given below and answer the questions that follows: 1+1+1=3

Magadha became the most important Mahajanapada in about two
hundred years. Many rivers such as the Ganga and Son flowed through
Magadha. This was important for (a) transport, (b) water supplies (c)
making the land fertile. Parts of Magadha were forested. Elephants,
which lived in the forest, could be captured, and trained for the army.
Forests also provided wood for building houses, carts, and chariots.
Besides, there were iron ore mines in the region that could be tapped to
make strong tools and weapons. Magadha had two very powerful rulers,
Bimbisara and Ajatshatru, who used all possible means to conquer other
Janapadas. Mahapadma Nanda was another important ruler. He extended
his control up to the north-west part of the subcontinent. Rajagriha
(present-day Rajgir) in Bihar was the capital of Magadha for several
years. Later the capital was shifted to Pataliputra (present-day Patna).



28.

29.

30.

31

27.1. Read statements i, ii and iii and select the correct answer.

Why did Magadha become the most important Mahajanapada in about
two hundred years?

i. Many rivers such as Ganga and Son flowed through Magadha.
ii. Parts of Magadha were forested.
ili. There were iron ore mines in the region.
Options: -
A)iand ii
B) ii and iii
C)iiiand i
D) i, ii and iii

27.2 In ancient India, the first capital of Magadha was: -
A) Pataliputra
B) Rajgriha
C) Vaishali
D) Varanasi

27.3 Name any two important rulers of Magadha mentioned in the
source above.

Read the source given below and answer the questions that
follows:

PREAMBLE

WE, THE PEOPLE OF INDIA, having solemnly resolved to
constitute India into a SOVEREIGN SOCIALIST SECULAR
DEMOCRATIC REPUBLIC and to secure to all its citizens:

JUSTICE, social, economic and political; LIBERTY of thought,
expression, belief, faith and worship.

EQUALITY of status and of opportunity; and to promote among them
all FRATERNITY assuring the dignity of the individual and the unity
and integrity of the Nation.

IN OUR CONSTITUENT ASSEMBLY this twenty-sixth day of
November 1949, do HEREBY ADOPT, ENACT AND GIVE TO
OURSELVES THIS CONSTITUTION

28.1 Give the meaning of the term ‘We’ in Preamble.
28.2 When was the Constitution of India adopted and enacted?
28.3 Which are the three forms of justice mentioned in the Preamble?

Describe the Heat Zones of the Earth with the help of a suitable diagram

Classify Maps on the basis of theme or a feature. Write two limitations
of Globe.

Give two examples of the famous Architecture of the Indus Valley
civilization with their locations. List any three features of the Indus
Valley Civilization which tell us that it was an urban civilization.

4

1+1+1=3

3+2

3+2

2+3



32.

33.

34,

35.

36.

Make a properly labelled flow chart of the Mauryan administration.

Highlight the two factors that make the city-life in India very difficult.

Distinguish between the rural and urban communities.

“In our daily life, we observe many developmental activities that are
always going on throughout the country.” Mention any five such
activities.

Manaus city in Brazil is located on 60° W longitude. What would be
the local time at Manaus when it is 12 noon at Greenwich?

On the outline map of India, locate and label the following:
A) Most powerful Mahajanapada.
B) Janapada that was situated in modern Afganistan.

*khkhkkhkkhhkhkkkik
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2+3=5

1+1=2
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